MEHIO MOJUTHUK G OOt 7

Jlenn HauvenoBanue Boixo,r | Beawn,r | AKupbLr VI/1eBOABLT IxKan
2 Horypt nuTeeBoi 100 2.8 2 11 8%
) By 104Ka JoMatiHsis o 4.37 7.07 36.8 228.2
= Hroro 172,35 7,17 9,07 47,8 1= 316,2
2 HorypT nurbeBoi 100 2.8 2 Il 88
2 | byiouxa tovauss 72.5 4.37 7.07 30.8 228.2
™ Hroro 172,5 8 ) 9,07 47,8 316,2
< Morypt nuTheBoii 100 2.8 2 11 88
2 By:1otKa JIoMalHss 72,5 4,37 7,07 36.8 228,2
il Hroro 172,35 7,17 9,07 47,8 316,2
2 Horypr nurseBoii 100 2.8 2 11 88
o bynouka gomMalHss 125 4,37 7,07 36,8 2282
~ Hroro 1725 717 9,07 47,8 316,2
2 Horypr nurbeBoii 100 2,8 2 11 88
:':_-,{ by 10uKa JIoMaliss i) 4.37 7407 36.8 228.2
0 Hrioro 172,5 Falid 9,07 47,8 310,2
2 Morypr nnTheBOi 100 2.8 2 ! 88 |
':-', by 1ouKa JOMalLHs B 4.37 7.07 36.8 228,2
o Hroro 172,5 7,17 9,07 47,8 316,2
=z Florypr i rbeBoil 100 2.8 2 Il 68
E by 10uKd JJOMALIHAs 72,3 437 7.07 36.8 228.2
I Hroro 172,5 Tad? 9,07 47,8 316,2
= HMorypt 1inTheBOi 100 2,8 2 11 88
g Bystouka 10MallHss 728 4,37 7,07 36.8 2282
e Hroro 1725 i 9,07 47,8 316,2
2 Horypt nutheBoil 100 2,8 2 11 88
E Byiouka jloMatiHssg 1253 4.37 1.7 36.8 2282
> Hroro 172 7,17 9,07 47,8 316,2
= Horypr nurbepoi 100 2.8 2 | 84
= by iouKa JloMartiiss 72,5 4.37 7.07 360.8 2282 |

| = Hroro 172,5 Tl 9,07 47,8 316,2



